Installation manual
DL850S27D-SB
DL850 Doppler Speed log sensor
DOLOG 2X replacement

SKIPPER Electronics AS Telephone: +47 23 302270

Enebakkveien 150 Telefax: +47 23 30 22 71
P. O. Box 151, Manglerud E-mail: support@skipper.no
0612 Oslo, Norway Co. reg. no: NO-965378847-MVA Document no: DM-D100

Rev: 1506A

www.skipper.no
Date: 2015.02.16



SKIPPER DM-D100 Installation manual Dolog replacement

TABLE OF CONTENTS

Introduction

Prepare speed log replacement

Install of sensor adaptor kit

Remove old dolog sensor

Prepare sensor for installation

nstall DL850 sensor in dolog tank

Drawings

Neli(e ol DN I (o) N () I F SN (V8]

Date: 2015.02.16

Page 2 of 12



INTRODUCTION

This document describes how to install a SKIPPER DL850 100mm sensor into an
excisting DOLOG 2X (DOLOG 21/22/23) tank.

The sensor replacement is recommended to be performed in dry dock. It is possible to
replace the sensor with vessel afloat. This procedure includes the diver procedures.

The replacement will require new DL850 Operator unit, transceiver unit and sensor. For
Operator unit and Transceiver unit installation instruction, please see respective manuals.

This procedure will mainly cover replacement of DOLOG sensor.
DL850S27D-SB consist of:

+ DL850S27-SB Sensor DL850 270kHz

* KIT-DOLOG-M1-SA Kit DOLOG 2X

Tools needed for this upgrade are :
+ allen key 8 mm

+ 1/2” Extension tool min 250 mm.
+ 1/2” Ratchet

A tool kit is available to help remove old DOLOG sensor and install the new DL850S27D-
SB sensor. The parts are described in “Drawings” section in the end of this manual.
This tool kit is sold separatly.

Date: 2015.02.16 Page 3 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

PREPARE SPEED LOG REPLACEMENT

The DOLOG speed log to be replaced consist of the following main parts:

1: Operator Unit.
To be replaced by SKIPPER DL850 Operator unit

2: Cable from operator unit to Electronic unit.
May be reused for DL850

3: Electronic unit
May be replaced by a terminal box for DL850 communication.

4: Cable Electronic unit to terminal box.
May be reused for DL850

5: Terminal box.
To be replaced by DL850 Transceiver unit (24VDC and/or115/220V AC requirement)

6: Sensor cable
To be replaced by DL850 sensor with 40m cable

7: DOLOG tank
To be reused for installation of DL850 sensor with DOLOG adaptor

8: DOLOG sensor
To be replaced by DL850 sensor with 40m cable

Date: 2015.02.16 Page 4 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

The sensor cable pipe (orifice tube) on the housing is part of the ship hull and has to reach
above waterline (CWL=Construction water line.)

If sensor is replaced by diver in water this construction will enable water to come into the
oricife tube construction but will stop at the level of water line.

Ornifice tube

Bow mrustero

The pipe has a watertight gasket in both ends.

Einbausatz 4
Ins tatlafian kit
SWE0RSG0T6 Wandlar - Gehd.
Best Nr. - )
16346 126 Transducer ca:
Stock No. SWa0ea G002
Best N
= Stock No. 1623.
Gewichi:
Weight 71 kg
[
!
~ €
~ %
T
il
h
AwFerhaut ]
Shal pinting 1 —_—
]
\‘ /
)
IIII

Date: 2015.02.16 Page 5 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

INSTALLING SENSOR ADAPTOR KIT

Install the sensor into the DOLOG adaptor as described in drawing.

Sensor forward (ahead) mark to be correctly positioned.
(The gasket, washers and 36 mm nut from DOLOG will not be available before old DOLOG

sensor cable is removed)

DETAIL B
SCALE 11

Gasket kit from
Dolog tank

Screws M10x80 from
mounting kit i

Date: 2015.02.16 Page 6 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

REMOVE OLD DOLOG SENSOR

Before old DOLOG is removed please prepare DOLOG sensor cable to be removed.

+ Cable end unscrewed fom terminal box.

* Along rope fastened to cable end. This rope will be used for pulling up the new DL850
sensor cable later.

Unscrew the 4 screws with a 8mm Allen key.

There are 2 levels of threads.

* Threads in tank

* Threads in sensor

Do only unscrew the tank threads so the screw hang in sensor as described in below picture

The sensor is now loose but most probably stuck. To force the sensor out of tank use the
removal tool or similar. When loosened, disconnect cable plug.

Use a crow foot 36 mm, 1/2 inch extension and rachet to unscrew 36 mm nut inside tank.
Store the 36mm nut and gaskets (if yet removed) in a safe place for reuse on SKIPPER
Sensor.

Pull out cable and bring cable with rope to a dry place. The rope is now going all the way
from top of tank pipe, through pipe and tank and to the dry place.

Take care when removing
the gasket set.
(Must be reused in the new sensor)

Ship™s hull Tool Dolog sensor removal
[0A-01224
Sensor Dolog X2

Date: 2015.02.16 Page 7 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

PREPARE SENSOR FOR INSTALLATION

Install the 36 mm nut and gasket onto the 40 m cable of new DL850 sensor.

NOTE If installed by diver with vessel afloat:

The sensor cable is now going to be lowered into salt water.

Avoid water from penetrating into cable end during diving operation.

To avoid salt water to penetrate into cable and cause corrossion, please cover the cable

end with screen.

Fasten the rope to new DL850 sensor cable end.

Gasket kit from
Dolog tank

Date: 2015.02.16 Page 8 of 12



INSTALL DL850 SENSOR IN DOLOG TANK

The new DL850 sensor adaptor is preinstalled with 2 x M10x80 mm screws. The two holes
not preinstalled will be used during installation.
Install the 400 mm threaded bolts into tank in the position of the two holes.

Mount adaptor plate with new sensor onto the threaded bolts. Secure with 2 x wing nuts
and washers.

The new sensor cable may now be pulled up the tank pipe. Fasten gasket and 36 mm nut.

Raise the complete sensor with help of the 2 x wing nuts. When in upper position fasten
the 2 preinstalled M10x80 mm screws.

NOTE: When sensor is raised and secured with 2 x Screws M10 x 80 mm.
Remove the 2 x 400 mm threaded bolts. Fasten the next 2 x M10x80 mm screws were
threaded bolts are removed.

Date: 2015.02.16 Page 9 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

DRAWINGS

X4OX | QQWW AAAA

oo - i o DB unsonms

XX

2125

W22 VS-IW-O010d-LIX

XZ Bojoq 4o} 113

SV Soluoaoa|g

7 E 7 :

ol'eosioc ' 1o 60C0S10C W'V
9Jop - Aq panroiddy | Aq paxoayd 9Jop - Aq paubiseq
7 7 7 7 s NO

S

[4 ¥V 1891s°4S 1 6NIQ 08X O LW Ma105 6¢10-VOZ 0l
L Juswaop|dal Bojoq Jog 1902-O1 6
4 1uswisop|dal Bojog 08 XO LW |010ads malds €902-01 8
L ¥V TLENIQ OEL X BW M3IDS 0¢C10-vOzZ Y
| ¥V CL6NIA 0E X OLW M3IOS 61C10-vOZ 9
L 800102-AUPL 0£21d 2ASPO 18010-VOZ S
L ¥V 9/Z INIQ 8W Joysom Buuds 0£010-VOZ 4
L 7V 9/ NI OLW J8ysom Buudg 1/010-VOZ €
[4 TV 66/9NIQ W £ sdijoiD 81¢10-vVOZ 4
l JOSUas W 00| uswaop|dal Bojoq 1o} aip|d Jaidopy 290Z-D1 |
ALO NOILdI¥OS$3d 43AWNN L3Vd ‘ON WALl

Page 10 of 12

Date: 2015.02.16



SKIPPER DM-D100 Installation manual Dolog replacement

! |

2

C
D
ITEM NO. |PART NUMBER DESCRIPTION QTY.
£ 1 ZOA-01225 Thread bolt M10 x 400mm 2
3 Z0OA-01226 Wing nut M10 DIN3154 EZ CR3+ | 2
4 ZOA-01224 Tool Dolog sensor removal 1
4 ZOA-01228 Washer M10 DIN9021 steel 2
— 5 ZOA-01227 Crow foot 36 mm 1
CN [ ™
Designed by - date Checked by [Approved by - date Material
ST 2015.02.06 G.12015.02.10 As parts
Name

SKIPPER

Electronics AS

Kit Mounting tools Dolog 2X

Drwg. no.

KIT-DOLOG-T1-SA 00"

Gen. tolerance

1SO2768m

Edition date
2015.02.06

Scale

1:2

Sheet
1of1

Eur. projecﬁon_g_ @

Date: 2015.02.16

Page 11 of 12



SKIPPER DM-D100 Installation manual Dolog replacement

g ys

s ey o g

EZ)

T

1(3G)23 voo

e

06709 MS

LI NOLVTTISNI HLIM $3INOSNYYL
ZLYSNVENIT LW ST TONYM

T2

woursag

ey
Z°4  omssomaoen | ocrwedo

Vg oz

p— T
 SGhmny

Z 498YS 355 WIWANSDSY DUD UCDJDISU! JOF
24401g ou bunssausp pun noqui3

woyDInSYl

S04 JOLIBUUOT YFIM B1GD) Y332 'SSAUJYDL)-IB4DA JOJ 3GN] 943435 {0ud
PUD (yuD;)uoyD)DjsUl Bursp3 JRINPSU Y33y Bupjiopun 840538

uaynud U01jDJ0S] 4D 13GONDRS 1iaNBIYG N0

pun (4D } Z) 2

JB)PUDM UBY30PSY WP JOA (1

2 ‘Buipjam 803G 10021 008 & Paj08YaId 39 jsnut Bursy
YBUDMNZION 35071 " Jo0§ $ND UBLISMUISUIT WA JOA S ISDDY3Y SOQ (7

Buraoy Jo Bunn)d wioj4oq ayp yiim

Y4Sn)j 8G pUncJD 1jp 4snui BUISDI BINPSUDY BUY J0 3603 JMO) 8Y]

uas Gipupg  Bunprawep #zq aioyduapog

! 43P 10 BIIRSTID gNY SOSTISO-JRIPUDM S3P BUDNRIU B (£

vy 4q parddns
VY 1484217 {y

PaoAdys Aq panjddns
Haannng 4249171 (s

anb.joy Buniasybil

buisvy jo suoisuaung
ayouasngyen (

pojutnd 3G Jou {SNw 30§ JBIPSUDY
uapseM wayiysal ppiu JJOP  YIDYIYOYS 310 (g
05096909 MS

X0q UoBquISIP a4 Ut pUE3IGD) auyy Jo Buissal

0509 6709 MS
UBYSDYIBYBIIA WP Ul SIPUIBQVY] SOP UYYINZ (5

 panddys Aq uoin3axy
'4JJamnog yaunp Buniynjsny (o
3y Aq uoyniexz
N y2anp Bunsynisoy (u
1ybua) ayy aansvay “ainpsuoy Buppisyl ds0g
“uaba)isay abup NDGUI - JBIPUDM JOA [rt
1009609 MS 4230pSuDY o] paDIEy
10006909 MS JAIPUOM WOZ 150430 (g

*2009 6709 MS buisva o papojay
2009 6109MS 3SNQUY WNZ 440429 (s

SBELNAM 92 NG 986INNY2IN

SVARIIA INSHON 430 %Y {10y ddin
L Jwgyes-241d
3 S,

18/18995 paytiod

adnys o' o7 plojT wieh  :uassDpbIZ (y
6681~ 1L L0} Py

phoy wRy  cuassORENZ (4

%905/ €0 IS "%EYSD
‘%9059 50 UN'%EZ'0 =T T BuisDa Jo jo1saiop
SPZELNIO S2I-ST $40ISHIINISNOYDT by

o

SEIS-8YIZNIOOL X5'E9
aqny ssaoss
{5 (s 40y S35014DN

2nSS3Ud BBAO(IDGZ) Dfi 7' 40§ 4B 3inSSaSG
INIPIBGN) (40GE] DANZ Q404 $42P420IT

“t {31
assne UL
£009854i MS

auIBIOM 34090
puoif 31q03 4ybisamm
{2t {y BUnIYDAPINPISGDY Bpy2pudSSOM
SUJIRSSOM 3P §PY.390

/114

v ¢/115 82z 05!

st 28 2009 6709 MS
295 uoYDLIONA J8Y4IN} 104
{51 76 2003 6909MS
3yals uaqoOUY 342419M (o2
0503 S0
Jounbuo) dnogo a)iun Buily
050 @ 0 uoyRIp
Buiios 0] aAyDRY ¥NOHD jo Fbuy
SUOHOINP  31Q)SSIUIBd
Mg o4
pInd 3G Sl 8304 JBINPSUDYL
o507 oSpDSBUDT @p wn yumddy
o570 9 0 BNAPILIDS 02 PHUMRISY
“wabunyaiamgy aBSSpINZ
vabal MY Wz
IRIDY (P SIIPITH SOF SPBYNTHS (g

(voyjoud yiaw pup 33}

X0q UONNGLYSIP 04 PUDID 3102 WOy ADM BYf 1D
(payuDwsip buiaq jo 3)1qudni) 31q03 Joj adid ar28j0dy
A 4055333 §f

(23S JSYISIUDRSU PR SIYISLHYRS |

BSODIABLIAA, SIG BURIYPIYINEIFGEY UOA

PuBYBBY2Np (1DGB3NIEZ | JYOIZiNYISIAGDY
“Yapepaoga siod

e 005

s bupuag
Jassaug oyabag

2joy 5uipoo)s
43040}

ARMOS

s

burysow diys-piy
BunJaispivp - SHISHIN

wurg <

Buyuod Jjys * sdiys jaeys w0 oDy
OISR | 4GS SUJBIUDIS 4RO ROGU3

‘

I

AN

T 0 T T T 7 T 7 T T T T T m T )
SRR 1T e |
et i A o )3 _ )
: a1 wononouesy o9vnzar WA
| D}S(DW SUOH Y NPOIdaY
| essu (01W-216 NIG) B
: | 5201 6909 MS
RS o e et
R {1y 3GnOAPSBPUIAZ
3
N 404S NS H
T 8095240 gy yseg  YBEEZLE gy ysag an. papjan 29 of | |
wgy usg = (os (2 U3LRAYIS
6000 6W9MS 40/93p0 €00 6709 MS
® wle JO4IBUUOT Y4M B)GDT
Eﬂwﬁw m (s 1PGONYIYS
o fe UBLIEMY. payjoows 3g of [}
g (o YaHDID v
|
1
—an —_— -/
TR ki I L , /
_ & _ — *
2joy buipooyy
G0N — N o paus
nouyusgy
4ybiap
u SO s )
" N 90jS T
2 £9962LL g ysag L] —
< 10096909 MS 7 N
®anpsunj .
{y JpuDH \ _
= —
o .
P—— BAit - jpmmag
oN 42045
o agRMYDS EOEEZ9L gy ysag
20096909 MS L..L/J + on $30i5
Buispa  J220pSUDYL AN ™~ 92LYEDS N ysog
lzta (3 {5 () ISNRYIG-JR1PUDN + TS i006v09ms 1l
14 UOYDJVISUY
(st (y 24oSnOqUI3
a-v -

Page 12 of 12

2015.02.16

Date



	Introduction
	Prepare speed log replacement
	Install of sensor adaptor kit
	Remove old dolog sensor
	Prepare sensor for installation
	nstall DL850 sensor in dolog tank
	Drawings

